
6098 6098.5 6099 6099.5 6100
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

6379

6379.5

6380

6380.5

6381

6381.5

6382

6382.5

6383

ru
n

run:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6381}



6098 6098.5 6099 6099.5 6100
cyclenum

101.5−

101−

100.5−

100−

99.5−

us
l_

1X

usl_1X:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

us
l_

4a
Y

usl_4aY:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

46.5

47

47.5

48

48.5

us
l_

4e
X

usl_4eX:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

19.5

20

20.5

21

21.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

40.5−

40−

39.5−

39−

38.5−

us
l_

12
X

usl_12X:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

6379

6379.5

6380

6380.5

6381

6381.5

6382

6382.5

6383

ru
n

run:cyclenum {run == 6381}



6098 6098.5 6099 6099.5 6100
cyclenum

164.5−

164−

163.5−

163−

162.5−us
r_

1X

usr_1X:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

0.5

1

1.5

2

2.5

us
r_

4a
Y

usr_4aY:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

232

232.2

232.4

232.6

232.8

233

233.2

233.4

233.6

233.8

234

234.2

us
r_

4e
X

usr_4eX:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

14.5

15

15.5

16

16.5

us
r_

4e
Y

usr_4eY:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

45.5−

45−

44.5−

44−

43.5−u
sr

_1
2X

usr_12X:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

6379

6379.5

6380

6380.5

6381

6381.5

6382

6382.5

6383

ru
n

run:cyclenum {run == 6381}



6098 6098.5 6099 6099.5 6100
cyclenum

31328

31328.5

31329

31329.5

31330

us
l_

co
il1

usl_coil1:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

6271

6271.2

6271.4

6271.6

6271.8

6272

6272.2

6272.4

6272.6

6272.8

6273

6273.2

us
l_

co
il3

usl_coil3:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

4242

4242.5

4243

4243.5

4244

us
l_

co
il4

usl_coil4:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

1213−

1212.5−

1212−

1211.5−

1211−

us
l_

co
il6

usl_coil6:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

15374.2

15374.4

15374.6

15374.8

15375

15375.2

15375.4

15375.6

15375.8

15376

15376.2

15376.4

us
l_

co
il7

usl_coil7:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

6379

6379.5

6380

6380.5

6381

6381.5

6382

6382.5

6383

ru
n

run:cyclenum {run == 6381}



6098 6098.5 6099 6099.5 6100
cyclenum

27591.5−

27591−

27590.5−

27590−

27589.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

5388−

5387.5−

5387−

5386.5−

5386−us
r_

co
il3

usr_coil3:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

4428.6

4428.8

4429

4429.2

4429.4

4429.6

4429.8

4430

4430.2

4430.4

4430.6

4430.8

us
r_

co
il4

usr_coil4:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

726.5−

726−

725.5−

725−

724.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

20073

20073.5

20074

20074.5

20075

us
r_

co
il7

usr_coil7:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

6379

6379.5

6380

6380.5

6381

6381.5

6382

6382.5

6383

ru
n

run:cyclenum {run == 6381}



6098 6098.5 6099 6099.5 6100
cyclenum

443.5−

443−

442.5−

442−

441.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

71.8−

71.6−

71.4−

71.2−

71−

70.8−

70.6−

70.4−

70.2−

70−

69.8−

69.6−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

22.2

22.4

22.6

22.8

23

23.2

23.4

23.6

23.8

24

24.2

24.4

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

474−

473.5−

473−

472.5−

472−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

90−

89.5−

89−

88.5−

88−4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

21

21.2

21.4

21.6

21.8

22

22.2

22.4

22.6

22.8

23

23.2

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6381}



6098 6098.5 6099 6099.5 6100
cyclenum

172.6

172.8

173

173.2

173.4

173.6

173.8

174

174.2

174.4

174.6

174.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

35

35.5

36

36.5

37

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

9.5−

9−

8.5−

8−

7.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

182.5

183

183.5

184

184.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

27.5−

27−

26.5−

26−

25.5−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

8−

7.5−

7−

6.5−

6−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6381}



6098 6098.5 6099 6099.5 6100
cyclenum

235.5−

235−

234.5−

234−

233.5−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

84.5−

84−

83.5−

83−

82.5−12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

7−

6.5−

6−

5.5−

5−12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

5

5.5

6

6.5

7

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

426−

425.5−

425−

424.5−

424−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6381}

6098 6098.5 6099 6099.5 6100
cyclenum

6379

6379.5

6380

6380.5

6381

6381.5

6382

6382.5

6383

ru
n

run:cyclenum {run == 6381}
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